HERYOEKIIAEET S

N 7/
O [}
hsS
"
o s 512D (o) |CECAEEE| o T 5112 (ox) |SELABHE
B0 B kN £ BX kN

B16-0210 M2X10 B16-0514 M5X14

B16-0212 M2X12 B16-0516 M5X16

B16-0214 M2X14 2.15 2.25 0.4 2.76 B16-0520 M5X20

B16-0216 M2X16 B16-0525 M5X25

B16-0220 M2X20 B16-0530 M5X30

5.2 54 1 17.25

B16-0310 M3X10 B16-0532 M5X32

B16-0312 M3X12 B16-0536 M5X36

B16-0314 M3X14 B16-0540 M5X40

B16-0316 M3X16 3.15 3.25 0.6 6.2 B16-0545 M5X45

B16-0320 M3X20 B16-0550 M5X50

B16-0325 M3X25 B16-0620 M6X20

B16-0330 M3X30 B16-0625 M6X25

B16-0412 M4X12 B16-0630 M6X30

B16-0414 M4X14 B16-0636 M6X36 6.2 6.4 1.2 24.83
B16-0416 M4X16 B16-0640 M6X40

B16-0420 M4X20 B16-0645 M6X45

B16-0425 M4X25 4.2 4.4 0.8 10.8 B16-0650 M6X50

B16-0430 M4X30

B16-0432 M4X32

B16-0436 M4X36

B16-0440 M4X40

[X] — - =] =
FRE o174 | NI TRUSCO F?RZICIJIJ.IHit%?I n;i/w\ SRR T A—ILEY *F B 6—0000




